N = 0l & AHSE B Al M

20228 = 3 3 LBE|H 230ll=nt
2M: 230z
M =X E (2L 2/ E23H0=)
EHR: 230X (&2 ML)
2M -3 . 2(3H) - MEAY - BES 0ff Ao J| &M Hns2
230 19,826,699 19,003, 120 823,579
= 3,320,500 3,320,500 0
p 988,717 988,717 0
[ 3,296,203 3,296,203 0
Al 12,221,279 11,397,700 823,579
2SS (2L 22/ 25H0=) 5,601,580 5,735,656 134,076
= 23,350 23,350 0
) 642,608 642,608 0
[ 742,493 742,493 0
Al 4,193,129 4,327,205 134,076
23losX 4,653,846 4,779,081 A125,235
= 23,350 23,350 0
pJ 642,608 642,608 0
[ 742,493 742,493 0
Al 3,245,395 3,370,630 125,235
SERFINESTH 354,800 356,800 22,000
307 @120l A 324,800 326,800 22,000
04 DIZFEHAAFIE X 18,000 20,000 22,000
O™ HAIRIS =i (0IAHEZ)
23X 18,000,000 18,000 20,000 A2,000
SIS L HAKIH 359,754 377,920 A18,166
307 QIZH0| A 358,494 376,660 A18,166
04 DIZFEHAAIIE X 207,494 225,660 A 18,166
OXHEAl 2FA| OIsREE (XS 80%)
(ollarE2Y) A3 6,300,000 6,300 7,000 AT00
OX=2 QUSAIE HAUSI(EXES 80%) (MIAHEZY)
A 14,400,000 14,400 16,000 21,600
02022 H=0I=0PPHHI0I(EXE 80%) (MIAHE2)
Z3A 18,000,000 18,000 20,000 A2,000
OXF= &M T2lJ| Hal(EXE 80%) (0lArRZ)
23X 7,200,000 7,200 8,000 A800
OO0z Al BAME(EES 80%) (M=)
A 14,400,000 14,400 16,000 21,600
ORXMHAY 2518AL X (XS 80%)
(OllarE2) & 17,100,000 17,100 19,000 21,900
O23H0=SA A X (BES 80%) 53,214 56,460 A3,246
—OIHAEE BZES 28t 2SFHAHOIAIEZ)
23X 2,430,000 2,430 2,700 A270
—NI233] MEBEXD| HAl L ME(HAEZ)
Z3A 1,800,000 1,800 2,000 A200
— A2 IB 80902 (AR )
A 2,700,000 2,700 3,000 A300
—HI333 SHESHM(MAHREZ)
23X 2,700,000 2,700 3,000 2300
—2NEBHNIARREE] HAIS (&AL
Z3A 1,800,000 1,800 2,000 A200




2A: 2o
M RIM=dE (2L 22/ 23H0=)
el 25HsXI (St &)
2N - F2 - H2A(ZH) - HI2AY - HES Ol Akt J|ZH Hnsz2
—HEZ0| =S SO (AR
2 3,600,000 3,600 4,000 2400
—2022 AlI2I0H E)5te QISR ME (0 AR
2 2,880,000 2,880 3,200 A320
—XOIZS FIRAT(MIAEZ)
Z2Z 1,800,000 1,800 2,000 2200
—28 AN SSIAF(HIAIEZ)
& 1,944,0002 1,944 2,160 £216
— A1} 8HBtE Al EESI(0IAEZR)
2 1,260,000 1,260 1,400 A140
—AF0I=EIIEE (ol A=)
& 1,800,000 1,800 2,000 2200
—AZAIRIDIQ M (AR )
AH 4,500,000 4,500 5,000 2500
ORNI253| YFHIZHSEM(EEXS 80%) (GIAH=Z)
3 6,480,000 6,480 7,200 AT20
OEZAE Z2EX(0AHE )
& 19,800,000 19,800 22,000 22,200
OMEZT| AMSE(0AEZE)
Z2E 9,000,000 9,000 10,000 21,000
OS2 240| SOIACHEEXS 80%) (HIAHE2)
& 21,600,000 21,600 24,000 22,400
SSosAMEESY & XN 181,036 196,660 A15,624
203 R =ZIH| 19,890 22,100 22,210
03 AR Z=ZIHI=XIH 19,890 22,100 22,210
OR3=X= FQAPZX(HArE) 19,890 22,100 A2,210
—23=2X2 FQAIE SOAIY =X
3 6,300,000 6,300 7,000 AT700
—Z30lls 2 PR FX
& 3,420,000 3,420 3,800 1380
—SHINY 29 A2 =3
23 1,800,000 1,800 2,000 2200
—ZHHAE 2 UL =7
JE 3,420,000 3,420 3,800 2380
—HSIE 23 AL =8
Z3E 1,350,000 1,350 1,500 A150
—=2Xe 2 AL =7
23 1,800,000 1,800 2,000 2200
—LQIFOHQl 2R AR =3
A 900,000 900 1,000 A100
OlSEAWE 2t A =3
Z& 900,000 900 1,000 A100
401 Al&H|IL 20 126,586 140,000 A13,414
01 Al&H] 126,586 140,000 A13,414
OY=23512 KI5t ST AH(RIBHRIOH ARt
3 108,765,260 108,766 120,000 11,234




SN 250151
B 20ILTE(SHUTY/23H012)
el ZStoll=XI& (cHel:&J)
S - T S2(3) - HIRAIY - BAS 0 et plE<El HlRE2
OSF=25ta 50| 2ol (AHTA A)
28 17,820,000& 17,820 20,000 A2,180
L ZStAA B SKIA 127,000 130,000 23,000
307 QI2t0| A 127,000 130,000 23,000
04 BIZFHAANEEE 27,000 30,000 23,000
OO0 25l 2aEorg(olara )
A& 27,000,000 27,000 30,000 A3,000
SHsSSU3 18,000 20,000 A2,000
307 QI2to| & 18,000 20,000 /2,000
04 DIZHHAIAIE E T 18,000 20,000 22,000
OSHs g SSZ AU (HAEY)
Z& 18,000,000& 18,000 20,000 22,000
AU SHA 54,000 60,000 26,000
307 QI2t0| & 54,000 60,000 6,000
04 BIZIHAIAIRIE X 54,000 60,000 26,000
O3B 482 1Tl Gl A=)
Z2& 54,000,000& 54,000 60,000 26,000
EnE=NGIES] 54,000 60,000 26,000
307 QI2to| & 54,000 60,000 26,000
04 DIZHHAIAIE 2T 54,000 60,000 26,000
OH293] 480 ST Gl ArE2)
Z & 54,000,000& 54,000 60,000 6,000
KEEs 2328I= Y XJAA 380,000 450,000 A70,000
307 QI2t01 & 380,000 450,000 A70,000
02 RIZHE&IAHE X 380,000 450,000 A70,000
OXEESI2s2H= 84 XA(BXE 80%)
(B ROl A2E) Z2& 130,000,000 130,000 200,000 270,000
M==HMSH 12,600 14,000 21,400
307 QI2t0| A 12,600 14,000 21,400
04 DIZIHALAIRIE X 12,600 14,000 21,400
O = SHUMUF JH=(EXS 80%) (0llarE2)
Z2E 12,600,000& 12,600 14,000 A1,400
M=0ISHD S HALKIA 9,405 10,450 21,045
307 SI2H01 A 9,405 10,450 21,045
04 DIZHHAIAIH 22 9,405 10,450 21,045
OYZ0UEXI NS HAIKIS(BEZE 80%) (Ol At
&22) Z& 9,405,000& 9,405 10,450 21,045
(D)BL=EANSX2S0ISETLEAIE 350,000 350,000 0
L= 100,000 100,000 0
Al 250,000 250,000 0
307 SI2H0| & 0 100,000 A100,000




S stz
B S STS(2HLBY/25H012)
ool 250l (erl: &g
SA - F . CRA(BH) - HRAY - BES Ofl At J15Y C[ImE==T]
= 0 30,000 230,000
Al 0 70,000 270,000
02 QIZHAAAMNHES 0 100,000 100,000
OFUSHIS SIS TLAL (ZA)
(H=2BH ALY R) A3 0 0 100,000 A100,000
= 0 30,000 230,000
Al 0 70,000 270,000
401 AIEHIZL S OHbI 350,000 250,000 100,000
= 100,000 70,000 30,000
Al 250,000 180,000 70,000
01 Al&HI 350,000 250,000 100,000
OHUSHIS SIS T LA (ZA)
EE - HEETEFOVSIEE SN)
100,000,000 * 14} 100,000 0 100,000
= 20,000 0 30,000
Al 70,000 0 70,000
EstAld el 237,734 246,575 28,841
HSAATE 2 2tel 237,734 246,575 28,841
201 LBt2EH| 153,240 157,240 24,000
01 At22teld| 23,340 27,340 24,000
ORER S22 HMI(FHTY A1)
A 2,000,008 2,000 5,000 3,000
OHER HiZEs 29 g4 TU(28Y A)
323 0 0 1,000 21,000
401 AlZHIZL O] 18,159 23,000 24,841
01 Al&HI 18,159 23,000 24,841
OB 02l B3 T SAHTHRY A1)
Z2E 15,159,000& 15,159 20,000 A4,841
22 D8t BE 2 2e|(2sr2/2E) 2,331,090 2,332,642 21,552
= 318,000 318,000 0
= 809,000 809,000 0
Al 1,204,090 1,205,642 21,552
SRR 2,331,090 2,332,642 21,552
= 318,000 318,000 0
& 809,000 809,000 0
Al 1,204,000 1,205,642 A1,552
EaFAEESL 186,090 187,642 21,552
201 LEL2EH| 27,518 29,070 21,552
01 At22teld| 13,968 15,520 21,552
OMBNDE 2I2ISE| (04
23 378,000 378 420 YAV
OSBIAY 2t HE2I} B2 (HAE)
23 2,160,000 2,160 2,400 A240
OSBIAIY 212t HEIt B0 (0 AR
Z2E 1,944,000& 1,944 2,160 A216




SN 250151
Hm: B OB HE U 22(2HYLBT/B)
SRl 2RO (cHel:&J)
S - T S2(3) - HIRAIY - BAS 0 et plE<El HlRE2
O 9 ME(0AE2) 2E 486,000& 486 540 AB4
Og9xF 2UHAAMRSHEl EES ME (oA
Z& 9,000,000 9,000 10,000 21,000
2SNEE A MS(2sL22/23H) 11,283,763 10,798,677 485,086
= 2,979,150 2,979,150 0
Il 346,109 346,109 0
= 1,744,710 1,744,710 0
Al 6,213,794 5,728,708 485,086
FEE 2 6,831,963 6,346,877 485,086
= 284,000 284,000 0
Il 346,109 346,109 0
& 900,585 900,585 0
Al 5,301,269 4,816,183 485,086
o BE ¥ BFH| 802,905 817,819 A14,914
201 LEr2Z| 97,374 99,788 A2,414
01 At22teld| 21,730 24,144 A2,414
O23HM shifolel A3 52 & W (oaE2
Z& 1,800,000& 1,800 2,000 A200
ORI 02 HAEXR 2 (0laE2)
2 4,032,000& 4,082 4,480 A48
O23HM X2 39 xS (oarEz))
23 630,000 630 700 AT0
O23H Ir22l@ 3l9| ZA0idl(0larE2)
Z& 810,000 810 900 A90
O MAE A28 0NZ(0lArE2)
2% 8,100,000& 8,100 9,000 A900
O=E&n 2XLXZ(0AEZ)
2 5,458,000& 5,458 6,064 A606
O=58n A 2FEI ==2(0aEL)
2 & 900,000 900 1,000 2100
207 HIHH| 117,500 130,000 212,500
01 ¢E4d| 117,500 130,000 A12,500
OR2sM KNEAE & &8 ARZA (YA
Ar2t) 28 20,000,000& 20,000 30,000 210,000
O &2 93 2o NHAE opso
(BB ErOH A2Y) 28 77,500,000& 77,500 80,000 2,500
HEZIME XL (= NHRASAF 2E) 2,311,120 1,811,120 500,000
401 AlEHIZL 20| 2,305,120 1,805,120 500,000
01 Al&H| 2,305,120 1,805,120 500,000
OlISSMAZE FAIAIE
500,000,000& * 14 500,000 0 500,000
HHY2HAYI(23I0=1) (JIEH/DIE 116,409 128,742 A12,333
JlE2Z| 116,409 128,742 A12,333
Jl2&| 116,409 128,742 A12,333




SN 280D
B H™LEAY| (2510121 (JIEHIIED
290 Jl=3dl (Sr9): 1)
S - B - C9(S0) - HRAKY - BaS o4k pE<L! HlmS2t
201 Lsr2g 25,851 28,722 £2,871
01 NS ZElH 25,851 26,722 ~2.871
OSABT T (M) (IAE)
X 3,802,000 3,802 4,224 N422
OS20HAI(CIAE) %3 9,980,002 9,980 11,088 A1,108
OYpkr 22 (OlAE) A 1,080,0002 1,080 1,200 A120
OARS TATYHI(04HE)
A 540,000 540 600 A60
OATD 24I(0 &R 9,261 10,290 A1,029
—=ADI(THE) 42 A 1,350,0002 1,350 1,500 A150
—TRIED| 42 23 225,000 225 250 ~25
—=ADI £ A 1,350,002 1,350 1,500 A150
—TRIEDI(28) U A 4,500,002 4,500 5,000 AB00
—TRIEDI(Z) S A 90,0002 900 1,000 A100
—pC 2] A 396,000 3% 440 Ad4
—JIEt 221yl AH 540,0002 540 600 260
ODIEF AR RI2IBI(IAIE)
A 1,188,0002 1,188 1,320 A132
202 018 78,408 87,120 £8,712
07 =LHOTH] 78,408 87,120 ~8,712
ORHLHOHI (I AE) A 57,024,002 57,024 63,360 £6,3%
ORI 0B (I AE) A 21,384,000 21,384 23,760 £2,376
203 22 Y| 6,750 7,500 ATE0
BIEEEEEEST 2,970 3,300 A3
OSS=X2E I BSAALE A (K AE)
A 2,970,0002 2,970 3,300 A3
M BARYALEZY| 3,780 4,200 A420
SNSYALEEI|(OAE)
A 3,780,000 3,780 4,200 A420
HPES (230150 (2L RZ/ 23H0%) 493,857 7,403 486,454
EENE 493,857 7,403 486,454
EENE 493,857 7,408 486,454
802 B3| Er 493,857 7,403 486,454
ENEE=RIE= 355,463 0 365,463
02021 E 175,085 0 175,035
— 2B EAEGI AR (ZAH A
25,961,6702 * 14! 25,962 0 25,962
— 25 B4FHIA(SAH4) (01T
391,650 * 14 302 0 392
— M4 BEZR] KR
33,760,9502 * 14! 33,761 0 33,761
— M HERR XIFAMLI(0IT)
349, 41021 * 14 350 0 350




2N 280D
I WRUS(2SI) (SHLBY/25002)
ool PEXE (Er9l: &8
S - B - S9(3H) - HRAY - BES il ko pE-L AimE=T
—=2E MIZANE SA2el
72,931,72021 * 14! 72,93 72,93
ST HLSXIAIE SXI22I(017H)
4, 0402 * 14] % %
—oIFZHIA X U BE
22,079,840% * 14! 22,080 22,080
—oIFZHYIR BiXI L HE(0IXH)
149,9302! + 141 150 150
—MMSSTY AR(OIXE) 113,060 » 14] 114 114
~SINADE HBAI
9,117,400 * 14} 9,118 9,118
—SDASS ZEARI(0IX)
63,2102 * 14] 64 64
~SDAHSST BB (+2A20IX)
7021 * 141 i 1
—HHSs B8 D2 8,000 * 14| 8 8
—HHSA B8 Z2IB(0IX)
124,7502 * 14} 125 125
—SETHOILATF FHIAIR 9,802,002 * 14] 9,803 9,803
—SSHTHOHLAEH FHIAI(OIXH)
79,7602 * 14] 80 80
020208 61,014 61,014
~SH2S0ISH A 6,285,508  14] 6,286 6,286
—SE2310122 AR(0IXH)
248 62021 * 14! 249 249
—SHRS0ISH A(£2Z0/X)
15102 + 141 2 2
— 25T BHHIA (S 4)
6,367, 2702 * 14| 6,368 6,368
—2ETH SATIAR(SAHA) (01X
52,1502 * 14] 53 53
— ML BER2] XIRA(OIX)
118,0702 * 14} 119 19
—XISI R BIZHAL XIRAIY
700,000 * 14} 700 700
~SINADE HBAI
11,518.9708 * 14 11,519 1,519
—SDAHSI ZEARI(0IT)
86,4202 * 14] 87 &7
—SDAHSS BRI (+220IX)
1202 * 141 i 1
—HARA YESYZ TEAML
34,977,608 * 14! 34,978 34,978
— AR FBSAZ AL (0T
240,250 * 14! 241 241
—SETHOILATE FUIAIR  402,98021 * 14 403 403
—2STHOHHT FHIAI(0IXH)
7.3108  14] 8 8




SN 23t0lE
M YLRES(2F0=) (2L 22/ 235H0=)
ool BEXXE (Sl &)
SN - 3 - SRA(SIH) - MRAY - BES Ofl &oH J| &M Hws2
020194 & 119,414 0 119,414
—235 T 2LHHIAFRI(SHH A
90,000,000& * 14! 90,000 0 90,000
— 25 24HHIAII (S HH A (01X
718,3602 * 14| 719 0 719
— 23 THOHHE HHIAI
28,404,950 * 14! 28,405 0 28,405
— 23 THOHHNE HHIAI (OIX})
289,8008 * 14l 290 0 290
02 Al - SHIEZ2¢HaE 138,394 7,408 130,991
Or021E = 56,375 0 56,375
— XIS R348 2HAIRI(0IXF)
600 * 14l 1 0 1
—ZASS 0120(08)| =&t5| (01X
6,880 * 14! 7 0 7
—HSRAAPLLAXIR(HF LH|Q EX
=& L2H (01X 6202 * 14l 1 0 1
—Z=HHI0BHEI0l X 747,0002 * 14| 747 0 747
—ZSHHI0BIEIOI XI (01X
2,820 * 14] 3 0 3
—LESRAUSSHFBHEH 2SS BAIEXIY
(OIXH) 2,720 * 14] 3 0 3
—S|OtS MM =2 MIANUUE L RSFHF
E2BHAIMUE(OIXH) 6,500% 14
— 23518t 2%(0IXH) 1,0802 * 14
—Z504 2%(0IX) 290 * 14! 1 1
—25 T 2LHHIAFI(SHA A
5,563,2102 * 14] 5,564 0 5,564
— 235 24HHIAIS (S A4 (01X
83,7302 * 14| 84 0 84
—HHIsA BE22] KIAAI
4,340,690 * 14! 4,341 0 4,341
—HHISA BE22] XIRAZ (01X
44,8402 * 14| 45 0 45
— 23 HHSXIAIE SRz
9,376,940 * 14! 9,377 0 9,377
— 2351 TS XIAIL SXIZH2I(0IR)
12,0702 * 14| 13 0 13
—OHMAHIY Xl & 22
6,623,502 * 14! 6,624 0 6,624
—OHXAHIA HIXI & 22(0IXH)
44,9809 * 14 45 0 45
— M2 AFRI(OIR}) 50,8302 * 14! 51 0 51
—S DA SSAIY
4,102,8302 * 14! 4,103 0 4,103
—SDMASST Z2AII(0IXH)
28,4302 * 14| 29 0 29




SN 20lE
Y RES(2SH0IEI) (2SU R/ 25H001%)
ool BENS (Sr9): 1)
S - T S2(3) - HIRAIY - BAS 0 et plE<El HlRE2
—FUNAZEN ZSAS(FAZ0IX)
302 * 14 1 1
—ADise 2E TR0 2,002 * 14! 3 3
—HR 28 Z202(01K)
39,8202 * 14! 40 40
—CRHSSY BT
11,019,5002 * 14] 11,020 1,020
~ SRS SAFEIA (01T
87,4902 * 14! 88 &
—SETHOIHE HHIAI
10,074,82081 * 14! 10,075 10,075
—SSHTHOHHT ZHIARI (IR
33,7002 * 14! 34 !
—SRHSS SE22IE NRAY
1,365,94021 * 14! 1,366 1,366
~SRFSEY SE22/H KAR(0IX
3,7202 * 14! 4 4
—2E TR0l HEH NRAY
2,693,54021 * 14! 2,694 2,694
—2HTHRIZI0l 2SI XIRA (01X
1,76021 * 14! 2 2
02020 & 15,420 15,420
~SE2510122 Alg 769,102 * 14! 770 770
—SS250/83 AR(OIXH)
30,4102 * 14! 31 31
—SE2501SH Al2(221201K)
18021 * 14! 1 1
—EIINY BESHAMR LAY
12,8002 * 14! 13 13
—ZI|XIS BESFAR LIA(0IT)
13,2502 * 14! 14 14
—REHALI|E BN AN B U 2w
ARI(OIXH) 29,8402 * 14! 30 20
—23HS5HRI A EA AR (01K
190,9802! * 14! 191 191
— 25T BHHIA (S &)
1,364,41021 * 14! 1,365 1,365
— 25T BAFEIAR(SAAA) (01T
11,1602 * 141 12 12
— MR BERE XIRAL(OIX)
15,1802 * 14! 16 16
—HASKL BESYL THA
4,497,22021 * 14! 4,498 4,498
—HIAIRA YBSYL ZHA(0IR)
30,8508 * 14! 31 31
~SDNASSTY HBAIL
4,863,720 * 14! 4,864 4,864
—SDNASITY HBA(0IX)
38,8802 * 14! 29 29




2M: 230z
HM: THRES(250=0) (222 /25H0s)
el BEXE (e A )
A - M SA(SH) - MEAIY - BES 04| AroH J| &M Hns2
—SINMIASSHH S A (22 20IXH)
502 » 14l 1 1
—CXHREH EFHIAIY
3,177,820 = 14l 3,178 3,178
—CXNEISH BLEHIAF (01X
182,630 * 14! 183 183
— XIS AL OISHAL XA
90,0002 » 14! 90 90
— AN AISE L2EAFA (01X}
3,2308 * 14l 4 4
—SSHHQHHE EHIAY 86,3502 * 14l 87 87
— 25 THOHHE EHIAFI(OIXH)
1,560 * 14l 2 2
020199 & 59,196 59,196
—235HH E2FHIAIS (SHH A
45,000,0002 * 14! 45,000 45,000
— 23 EFUIAIS (SHAH AL (01X}
359, 1702 * 14 360 360
—CXHSSH EHH|IAFY
3,100,570 = 14l 3,101 3,101
—CXEESH BLEHIAFZ (01X
323,210 * 14l 324 324
—2SHHOHHE EHIAY
10,311,430 * 14 10,312 10,312
— 23T FHIAF(OIXE)
98,3602 * 14l 99 99




